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Aufgabe 1

Berechne.

2)6-6+9-T=  1)6-3+8:2=  )4-9+3-8=
)6-4+6-8=  3-9+4.-6= £)3-5+6-8=
96-7+9:2=  1)9-3+4-4=  7-6+8-9=
)3-T+9 4=

Aufgabe 2

Berechne.

A4-8—5.-4= 18- T—-8-5=  6-4—4.5=
)4-8—2-4=  ¢5-8-8-4=  )8-4-2.4=
98:8-—3-5=  n8-6-7-6 )6-4—3-5=
)8:3—-2.5=

Aufgabe 3

Berechne.

2)3-349.-5=  1)2-2+2-3= ¢ 7-8+7-5=
d)3-7+85=  2-6+3-8= N6-8-3-T=
0)5-846-T=  1)3-8+8-7T=  8-7—3-8=
567 -4=

Aufgabe 4

Berechne.

2)3-7T+5-6=  b)8-4+4+6-8=  ¢)6-6+6-6=
)3-4+3-8=  ¢8:8+7-4= 0HT-5+8-9=
9)5-84+5-6=  1)8-9+3-2=  )9-4+4-4=
HT-4+43-8=

Viel Erfolg!
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